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BEANRE SHCEE LT P LB LHMECTR) B ER 4

£ {71 R - K& By % = Bl ® # =
EEIEE 14, 205, 155
ENREERAI 14 14, 205, 155
ENREER RIS 14, 205, 155
ENREER RIS 13, 960, 155
A 376, 417
1 AT 1.00 275,023 275,023
=
2 BE (L) 1.00 86, 143 86, 143
=
3 B&E (kL) 1.00 15, 251 15, 251
=
ENREER A 1,793, 260
4 SR THRE US55 108. 00 6, 908 746, 064
th
5 JKELEEHA (1) 4.00 78, 805 315, 220
[
6 KELETEHA (2) 4.00 78, 805 315, 220
[
7 BiKMIEL R T 25 4.00 78,516 314, 064
[
8 ETHRE LI 1.00 51, 346 51, 346
m
9 FH/E LT 1.00 51, 346 51, 346
m
NEAERERESR 5,522,102
10 BES®R 9. 00 197, 526 1,777,734
[
TS 1.00 197, 526 197,526
[




BEANRE SHCEE LT P LB LHMECTR) B ER 4

% R B - K& B % B B @ £ & m o=
12 B =& 1.00 250, 362 250, 362
]
13 BREEXE 16, 000. 00 159 2,544, 000
m2
14 Eff GRIHRE) 1.00 112, 480 112, 480
=
15 nn& 32.00 20, 000 640, 000
t
[ 1,208, 364
16 SRl ROEE 1.00 1,208, 364 1,208, 364
=
iz H 2 4,880, 162
17 fEraunialE T 12.10 65, 966 798, 188
km
18 BETXbH 1.00 162, 008 162, 008
=
19 BEAE 6.70 9,995 66, 966
km
20 UAVH" )-vL-4" -l & 110, 000. 00 32 3,520, 000
m2
21 MESEER 50. 00 6, 660 333, 000
1T
R 179, 850
22 EqimE 1.00 78,150 78,150
]
23 RS 1.00 50, 850 50, 850
]
24 ZERWE 1.00 50, 850 50, 850
]




BEANRE SHCEE LT P LB LHMECTR) B ER 4

R R& - WAKSTE BfL - B ' # m =
EERE 245,000
EBHARRE 200, 000
25 FBRERE 1.00 200, 000 200, 000
=
Bl EE 45, 000
26 fETEREHE 1.00 45, 000 45,000
T




RiEx SH6EEHIIE LIS BET KBS 4
% # s - R B 2 i 2 = W E

EZHEE 14, 205, 155
HiRY 14,205,155 x 63.7% — 3,838 9,044,845
BEEEE 14,205, 155 + 9,044, 845 23, 250, 000
B2 EHEME 23, 250, 000
HEHENRLE 23,250,000 x 10.00% 2,325,000
REXBE 23,250,000 + 2,325,000 25, 575, 000




Rifiz -/ \v7r—o

SH6EEH IR P LN IHC T XS REERBISM 4

&5 1
2 . AEER =1
£ 7 R - BIRTE BARL 2 B Of € W E B &
BlEFEHED
A 1.50 54, 600. 00 81,900
B S HER
A 2.50 47,100. 00 117, 750
B = H AR
A 1.50 36, 900. 00 55, 350
BIEBF
A 0.50 34, 600. 00 17, 300
AR L NOY
% 1.00 2172, 300. 00 2,723
= 5 1YE%HeH - 1.00K 2175, 023. 00 2175, 023
&5 :2
& BE (EL) =1
£ 7 R - BIRTiE BAGL 2 B Of € W E B =
REE 5S4 kY 2L
B 0. 60 3, 553.00 2,131/2.00H / 8H
BlEFEHED
A 0. 60 54, 600. 00 32, 760
B S HER
A 0. 60 47,100. 00 28, 260
B = H AR
A 0. 60 36, 900. 00 22,140
AR =L NOY
% 1.00 85, 291. 00 852
= 5 1E%HeH - 1.00K 86, 143. 00 86, 143




Rifiz -/ \v7r—o

SH6EEH IR P LN IHC T XS REERBISM 4

%5 :3
& BE (kL) 1RXEHY (A=)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
H 0.10 3,553.00 355/2.00H / 8H
Anot i
H 0.50 1,770. 00 885/8H
BIEFEHED
A 0.10 54, 600. 00 5, 460
B S HER
A 0.10 47,100. 00 4,710
B = H AR
A 0.10 36, 900. 00 3,690
AR L NOY
% 1.00 15, 100. 00 151
& B EZBER - 1.00= 15, 251.00 15, 251
&5 4
B TR E15EHA THEHY (23t R)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
H 1.00 3,553.00 3,553 2.00H / 8H
Anot i
H 1.00 1,770. 00 1,770/8H
baNAT-vaviEH AERREAI0R . BIEEFERESmm+5ppm x D
H 1.00 1,504. 00 1,504
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBNF
A 1.00 34, 600. 00 34, 600
BIEHEE
A 1.00 25, 900. 00 25, 900
AR =L NOY
% 5.00 151, 327. 00 7,566
& B {EZBER : 23. 004 6, 908. 00 158, 893




Rifiz -/ \v7r—o

SH6EEH IR P LN IHC T XS REERBISM 4

55
&5 - KELEHERAL (1) 1EZHY (E)
£ 7 R - BIRTE BARL #H = B Of € W E B &
REE S4 kY 2L
B 1.00 3, 553.00 3,553/2.00H / 8H
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBF
A 1.00 34, 600. 00 34, 600
AR =L NOY
% 5.00 75, 053. 00 3,752
= 5 1YEZHER - 1.00[E 78, 805. 00 78, 805
&S :6
&5 : KELEHEHAL (2) 1EEY (E)
£ 7 R - BIRTiE BAGL #H = B Of € W E B =
REE S4 kY 2L
B 1.00 3, 553.00 3,553/2.00H / 8H
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBF
A 1.00 34, 600. 00 34, 600
AR L NOY
% 5.00 75, 053. 00 3,752
= 5 1YEZHER - 1.00[E 78, 805. 00 78, 805




Rifiz -/ \v7r—o

SH6EEH IR P LN IHC T XS REERBISM 4

&5 .17
AF : BRAKRMELET=ETR 1EZY (1[E)
£ 7 R - KT By B = B Of & | W E B &
TEE S4 kY 2L
B 0.50 3,553.00 1,776/2.00H / 8H
baNAT-vaviEH AERREAI0R . BIEEFERESmm+5ppm x D
B 0.50 1,504. 00 752
B S HER
A 0.50 47,100. 00 23, 550
B = H AR
A 0.50 36, 900. 00 18, 450
BIEBNF
A 0.50 34, 600. 00 17, 300
BIEHEE
A 0.50 25,900. 00 12,950
AR =L NOY
% 5.00 74, 778.00 3,738
= 5 1YEZHER - 1.00[E 78, 516. 00 78,516
%5 :8
& ATHRELT Tm&HY (6m)
£ 7 R - KT By B = B Of & o W E B =
TEE S4 kY 2L
B 1.00 3,553.00 3,553/2.00H / 8H
Anot i
B 1.00 1,770. 00 1,770 8H
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBNF
A 1.00 34, 600. 00 34, 600
BKE(FA1—) 10mk 578
A 2.00 52, 200. 00 104, 400
AR =L NOY
% 70.00 181, 223.00 126, 856
= 5 YE%HES : 6.00m 51, 346. 00 308,079




Rifiz -/ \v7r—o

SH6EEH IR P LN IHC T XS REERBISM 4

59
B #FHELES Tm&HY (6m)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
=] 1.00 3,553.00 3,553 2.00H / 8H
Anot i
=] 1.00 1,770. 00 1,770/8H
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBNF
A 1.00 34, 600. 00 34, 600
BKE(FA1\—) 10mk 578
A 2.00 52, 200. 00 104, 400
AR L NOY
% 70. 00 181, 223. 00 126, 856
& it {EZHBER : 6.00m 51, 346. 00 308, 079
H5:10
&% BERR 1EZY (1[E)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
=] 1.00 3,553.00 3,553 2.00H / 8H
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 2.00 36, 900. 00 73, 800
BIEBNF
A 2.00 34, 600. 00 69, 200
AR L NOY
% 2.00 193, 653. 00 3,873
& B {EZ8ER - 1.00mE 197, 526. 00 197, 526




Rifiz -/ \v7r—o

SH6EEH IR P LN IHC T XS REERBISM 4

&H5: 11
B R RAR 1EZY (1[E)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
H 1.00 3,553.00 3,553 2.00H / 8H
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 2.00 36, 900. 00 73, 800
BIEBNF
A 2.00 34, 600. 00 69, 200
AR L NOY
% 2.00 193, 653. 00 3,873
& B {EZ8ER - 1.00ME 197, 526. 00 197, 526
H5 :12
B EERR 1EZY (1[E)
£ 7 R - KT By = B Of & | W E B =
TEE 5S4 kY 2L
H 1.00 3,553.00 3,553 2.00H / 8H
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 2.00 36, 900. 00 73, 800
BIEBNF
A 2.00 34, 600. 00 69, 200
BIEHEE
A 2.00 25, 900. 00 51, 800
AR L NOY
% 2.00 245, 453. 00 4,909
& B {EZ8ER - 1.00mE 250, 362. 00 250, 362




Rifiz -/ \v7r—o

SH6EEH IR P LN IHC T XS REERBISM 4

H5:13
B BREMEXE Tm2%HY (1000m2)
£ 7 R - BIRTE BARL #H = B Of € W E B &
REE S4 kY 2L
B 1.00 3, 553.00 3,553/2.00H / 8H
HEE&
A 1.00 29, 000. 00 29,000
Lo ES
A 1.00 25, 600. 00 25, 600
LEEXE
A 4.50 21,900. 00 98, 550
AR L NOY
% 2.00 156, 703. 00 3,134
= B EZEEH - 1,000.00m 2 159. 00 159, 837
H5: 14
2 - B GRIFRE) 1RXEHY (A=)
£ 7 R - BIRTiE BAGL #H = B Of € W E B =
EiRE 57" b3y (FuR-F -7 11" 1) 2. Otk
m2 16, 000. 00 7.03 112, 480
= 5 1YE%HeH - 1.00K 112, 480. 00 112, 480
H5: 15
2% WHE 1Tt3HY (t)
£ 7 R - BIRTiE BAGL #H = B Of € W E B =
BN s &
t 1.00 20, 000. 00 20, 000
= it 1E%REN :1.00t 20, 000. 00 20, 000




REKR-FEL/\vr—2 SHEEFFIRHTHLSBCIR) BRI

H5:16
2 BEEROEE 1RXEHY (A=)
2 Lo R - KT By B = B ff € &8 W E H %
BlEFEHED
A 2.00 54, 600. 00 109, 200
B S HER
A 8.00 47,100. 00 376, 800
B = H AR
A 8.00 36, 900. 00 295, 200
BIEBNF
A 12.00 34, 600. 00 415, 200
Mo 2RD%
% 1.00 1,196, 400. 00 11, 964
& B 1EZBER - 1.00 1, 208, 364. 00 1,208, 364
&H5 17
2 HEETAE  TIRE 1BHY (2.4km)
2 Lo R - KT By B = B ff € &8 W E w %
REE 54 kY 2
=] 1.00 3,553.00 3,553 2.00H / 8H
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBNF
A 2.00 34, 600. 00 69, 200
Mo 2RD%
% 1.00 156, 753. 00 1,567
& B 1E%HBEN : 2.40km 65, 966. 00 158, 320




Rifiz -/ \v7r—o

SH6EEH IR P LN IHC T XS REERBISM 4

&5 :18
B BETAL 1Ky
2 Lo R - KT By = B ff € &8 W E H %
REBE 54 kY 2
A 1.00 3,553.00 3,553 2.00H / 8H
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBNF
A 1.00 34, 600. 00 34, 600
LEvAX
=] 1.00 1,770.00 1,770 8H
GNSS;RIfI =& DGNSS
A 1.00 25, 740. 00 25, 740
BRI 1AM 100kHz
=] 1.00 10, 741.50 10, 741
Mo 2RD%
% 1.00 160, 404. 00 1, 604
& B 1EZBER - 1.00 162, 008. 00 162, 008
H5:19
B BEAE 1TH&EY (19.9km)
2 Lo R - KT By = B ff € &8 W E w %
REE 54 kY 2
=] 1.00 3,553.00 3,553 2.00H / 8H
LEvAX
=] 1.00 1,770.00 1,770 8H
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBNF
A 2.00 34, 600. 00 69, 200
GNSS;RI I =& DGNSS
=] 1.00 25, 740. 00 25, 740
BRI 1AM 100kHz
=] 1.00 10, 741.50 10, 741
Mo 2RD%
% 2.00 195, 004. 00 3,900
& B YEZRES 1 19.90k m 9, 995. 00 198, 904




Rifiz -/ \v7r—o

SH6EEH IR P LN IHC T XS REERBISM 4

H5:20
275 : UVAVY -4 -8l = Tm2ZY (100000m 2)
2 Lo R - KT By B = B ff | W E H %
B S HER
A 25.10 47,100. 00 1,182,210
B = H AR
A 24.00 36, 900. 00 885, 600
BIEBNF
A 16. 00 34, 600. 00 553, 600
HWEEE HHEEE (FA) =3,405x (¥ & km)
+93 = 1.00 467, 000. 00 467, 000
REETEE RESEE= (BEEAGE+HWMEE) X BE
EEERI (6% % 6.00 2,948, 310. 00 176, 898
& it 1EZHEH - 100, 000. 00m 2 32.00 3, 265, 308
&H5: 21
B mESER 1004&HrE 2 Y
2 Lo R - KT By B = B ff | W E w %
BIEFEHED
A 1.00 54, 600. 00 54, 600
B S HER
A 3.00 47,100. 00 141, 300
B = H AR
A 6.00 36, 900. 00 221, 400
BIEBNF
A 7.00 34, 600. 00 242, 200
Mo 2RD%
% 1.00 659, 500. 00 6, 595
& B {EZBEA : 100. 0% MR E 6, 660. 00 666, 095
&H5:22
2 . BATHE ZEP,
2 Lo R - KT By B = B ff o W E w %
BlEFEHED
A 1.00 54, 600. 00 54, 600
B S HER
A 0.50 47,100. 00 23, 550
& it {EZ8ER - 1.00mE 78, 150. 00 78, 150

10
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SH6EEH IR P LN IHC T XS REERBISM 4

H5:23
AT hEERE 1EHY
2 Lo R - KT By = B ff € &8 W E H %
BlEFEHED
A 0.50 54, 600. 00 217, 300
B S HER
A 0.50 47,100. 00 23,550
& it {EZ8ER - 1.00ME 50, 850. 00 50, 850
H5:24
2 . ZB|E IEED)
2 Lo R - KT By = B ff € &8 W E w %
BIEFEHED
A 0.50 54, 600. 00 21, 300
B S HER
A 0.50 47,100. 00 23, 550
& it {EZ8ER - 1.00mE 50, 850. 00 50, 850
H5:25
2% EBHRRE XLy
2 Lo R - KT By = B ff € &8 W E w %
(BHRERE
= 1.00 200, 000. 00 200, 000
& it EZBER - 1.00= 200, 000. 00 200, 000
H5:26
2% MIERRAE 1T#ELEY
2 Lo R - BAKTiE By = B ff € &8 W E w %
TR YUTRE
T 1.00 45, 000. 00 45,000
& it {E%BEHN - 1.00%E 45, 000. 00 45,000

11




Hifix—% SHCEE LT P LB LHMECTR) B ER 4

% L Bg - BIRHE BfL B ff el (H) | fXAiiNo. R fifi = % #F HAmRRE - BAARTE
53 PR A 2| BE (L)
H 3,553 2.00H / 8H
3BE (KE)

4L TFHREUESEHE

(S,

JKELEHETAI (1)

6 JKELETEHER (2)

~

70 QUL e b Al <y

8L TFHRELIF

9 EHEE LT

10 BE A&

1

—_

FREF AR

12 EMRR

13 BREEXR

17 fErsakn g FiRE

18 fEET R b

19 FEER

N
w

fiashia HE Okb)

H 1,770 8H

E=N

ATFRREUESHE

8L TFHRELIF

9 EHEE LT

18 fEET R b

19 FEER

w

S I YSeVEE-E 53 AERTHEAMAI0F, BIERE
5mm+5ppm x D =] 1,504

E=N

ATFRREUVESHE

~

70 QL e b A <y




==X iiE S SHEEFFIRHTHLSBCIR) BRI

HfiRES : 1
HfiREH  ZBE SA bV 2 TBZY 2.00H / 8H
% # Mg - AR TiE B B B ' # S & &
AVIY
L 7.00 157.00 1,099
BH (54 MNVIAVIIVDY - T REERNSE HRE2.0L
Eig))) B 2.00 287.00 574 BT
BH (54 MNVIAVIDIVDY - T REERNSE HRE2.0L
E8))) = 1.19 1, 580. 00 1,880 #me
O 3,553
HfRES : 2
iR 45 - Mo 8H
% # Mg - AR TiE B B B ' # S & &
B (i) FRP&L 5. 5m
B 1.00 672.00 672 et
B (i) FRP&L 5. 5m
B 1. 65 666. 00 1,098 f#me
O 1,770
HfiRHES 3
BERA : AT-vaviEK AERREGI08, BEEHEESm+5pom x D
% # Mg - ARTiE B B L i ' # S & &
BHE (-aF-vaviEsh FERREA10F), B EEHE B Smm+5ppm x D
B 1. 65 912.00 1,504 f#me
O 1,504




